1- regarding the parathyroid gland chooses the incorrect statement 

A- It regulates Ca level 

B- It is stimulated by the potiseror pituitary gland 

C- Ca has negative feed-back on the parathyroid 

D- Decrease Ca level stimulate PTH secretion 

E- None of above 

2-Regarding the PTH choose the correct statement 

A- PTH increase bone Ca+2 resorption 

B- Decrease Ca reabsorbtion 

C- Increase phosphate reabsorbtion 

D- Will lead to hypocalcaemia  

E- None of above 

3- which of the following doesn’t affect Ca concentration in plasma  

A- Increase anions 

B- Increase plasma proteins 

C- Respiratory alkalosis  

D- Acidosis 

E-  None of above  

4-one of the following is a hypocalcaemia symptom 

A- hypo reflixa 

B- increase threshold 

C- hyper reflixa 

D- cardiac arrhythmia 

E- renal stones 

A- 5-which of the following stimulate PTH secretion 

B- ↓ ionized Ca

C- ↑ Ca combined with proteins 

D- ↑ ionized Ca

E- hypocalcaemia
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6- all of the following are PTH actions except 

A- ↑ bone resorpition 

B- ↑ Ca reabsorpition  via kidney 

C- ↑ intestinal  reabsorption via activation of Vit.D

D- ↑ phosphate reabsorption (kidney)

E- ↓ phosphate reabsorption(kidney)

7-regarding hypoparathyroidism choose the incorrect statement 

A- lead to hyper reflixa 

B- can by triggered by Chovestk’s sign 

C- lead to low threshold 

D- lead to renal stones 

E- none of above 

8-regarding Ca homeostasis choose the correct statement 

A- PTH lead to hypocalcaemia

B- calcitonin secreted by thyroid lead to hypocalcaemia

C- Vit.D  ↓ Ca Absorption in the intestine  

D- ↑ Plasma proteins will lead to hypocalcaemia

E- ↓ plasma proteins will lead to hypercalcaemia 

9- all of the are Vit.D effects excpt 

A- ↑ intestinal absorption of Ca

B- ↑ kidney reabsorption of Ca 

C- ↑ phosphate reabsorption by the kidney 

D- ↓ phosphate reabsoption 

E- none of above

10- all of the following are calcitonin effects except 

A- Ca secretion in urine 

B-  Phosphate secretion in urine 

C-  polyuria 

D- ↓ Ca and phosphate reabsorption 

E- ↑ bone resorption 
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11- all of the following lead to Osteoporosis Except 

A- Ageing 

B- Long Ca deficiency 

C-  Increase Estrogen 

D- immobilization of bone 

E- weight less ness 

12- regarding Vit.D Deficiency choose the incorrect statement 

A- may occur due to liver and kidney problems 

B- ↓ intestinal absorption 

C-  may occur due to Dietary Deficiency 

D- will lead to high ECF Ca

E- none of above 

13- regarding tetanus choose the correct statement 

A- it affects respiratory muscles only 

B- it is due to hypercalceamia 

C- its due to ↓ ECF Ca 

D- it occurs when Ca plasma level between 20-25mg/dl 

E- none of above 

14- the most important Ca in plasma is 

A- Ca combined with Albumin 

B- Ionized Ca

C- Ca combined with anions 

D- Ca combined with phosphate 

E- None diffusible Ca 

15- regarding impotents of Ca choose the correct statement 

A- its important in bone structure 

B- its important in muscle contraction 

C- it works as a Co-factor for blood clotting 

D- release of neurotransmitters

E- all of above 
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